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36.

The fustest and most powerful computer
catepory is!

A ]:H';‘!]"_-i'l;_'lﬁ?ll (& ﬁlltﬂrﬂﬂl‘

B mini compuler

2 mainframe compuier
[ super compuler

Which protocol below is vsed to traaster hles

hatween computers an the Internet?

M FIT
§] HIT TP
) r

] TP

Which of the Il}[lms-'ing?a NOT u method of

data validation?

A Proof reading
B} Checle digits
i Length checks
. Type chechs

The semuntics of program statements has 1o
dii wAtl: thioir

A Structure

B Lticiency

C Mistiiig

1 Length

Ung gigabyte is equivalent Lo g
A 1024 Byies

5} 1024 Kilabytes

62 1024 Mepabytes

0 1074 Terabvics

An inle jel privter is an cxample ol a (an),

A [aser printer

B Impact printer

C Mon-impact priofer

O L.CTY printer

The term multimedia relers to:

A Any combination of lext, graphics,
video, sound in e same documen|

B A computer laboratory with aceess
to the Inlermet

5 The use ol tele-device to send lext
messagey, pictures and sound,

D A seheol vt has a compuler

laboratory with computers
scanners and internel

A transmiission mode fhal allaws data to
move in onc dircction only is called
transmission

A half-duplex
B Toll-duplex
£ simplex

B uples

2x/595 1BMCQ
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42.

The process of converting from cigital
signals to analogue signals for the purpose
of duts communication is called:

A Modulation

R Demodulalion
c Line swilehing
I3 Multipleaing

Which of the following storage devices has
the lustest access speed’!

A RAM

B ROM

£ Cache Memory
B} [ tard Dhisk.

Popular imperative languages are:

M C. Pascal.

B A, Tortran.
i 201, Java:
L Java_ £

[SP stands o

M Internel Serial Poit

£} Internet Switching Protocol
£ Internet Scrvice Provider
2 Intcrnct switching point

restrict access to dutd in 4 network is aln}:

A Spam filter
B Antivirs
C Fxtranet

B Firewall

Soltware is said 1o be open source il

A Its Heense speeilies froe usase aad
Modilication.

I It has no hecnse.

C Its source code can be acecssed
easily by users,

T It ¢an be distributed freely.

44.

E1S standds For:

In computer science, _ i weell
delined step by slep methad or procedute
for sulying a proklem.

A A syntax

B an algorithm
£ an instruction
I 4 solution

A lilectronic Information Sysiem
B Essential Information Sysiem

i Executive Information Systam
1} |:ssential Intergrated Software.

Go on 1o the next page
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45.  The truth table below is forthe  gate,
A NOT opET|otTRUT
B OR P =
C AND =5
B XOR | i)
A6, is the protocol that soverns
movement of data on the [nternet.
A HTHKL
B Telnet
& I'CP/IP
1 XML
47, An operating system thal runs on a single
compiler and can seeommodste dilTerenl
wsers al the same Hme 15 a;
A single-user operating systom,
B multi-user operefing system,
C - disk operating systenm.
[ peer 1o peer operating gyston,
44 Which ol the following cala [vpes can have
only 1wo possible values?
P Texi,
B Idate,
C Mumber,
, () Buoolesn.
44, Which of the lollowmi 15 o good password
poliey for an orgamieation? Passwaords
' should:
A He very long,
B Never be dliciged,
{2 Camprise about seven or cight
characters sl users can casily
remamber. b
D DBe wrilten and kept wra secretl
place in case the user torgers the
password.

S0, A ticket seller checky daj allocates seats,
then prints tickets for customers, What tvpe
of information system is the ticket seller

tatirg?

M A dali automalion system.

2 A munagement Information svstem.
[ An cxpert systom,

L A lransaclion processing system,

STOP

NOW GO BACK AND CHECK YOUR WORK
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|. Which one of the lollowing is the largest
computer network?

A World Wide Web
B Fxiranc

i Internet

13 Wide arca nebwiorl

2. Wh icl is the odd iler below?

A Mligrosodt CHlce
B |Linux
L Linix
(B! Microsofl Winduws
i __:i!-i the process of making a file

available on a compater in a netaork <o that
others can have docess to it from their own

GO NIRETS.

A Dovenloading

K Liploading

C Upygrading

1) Updating

4, Whisl does e abbreviation LRCIMC stand
for?

A Cxrended Binary Caded Decimal
Interchanps Code

H Turerna) Bmary Coded Thigital
[nterchungye Code

E; xternal Binary Coded Decimal
Information Code

] Ixtended Binasy Coded Digial
Inlormation Cods

B ig.an image file extension.

bl B

B PDFE

{T et

13 ALS

6. The truth table ai lllc_Lig__-hi i for il

= e |'”‘IT ': L‘:*ITT '
B G T T
¢ NOR | v I 3
D NAND 'l -’=

7. Which of the fallowing is similar tou
calculator kevpad’

A lFunetional keypad

B Alphanumeric keypad
{_.' Mumeric keypad

B Oni-sureen keyboard

24595/ [/ BIMCH)

8.

g

A har code repder 15 an example of a (an)

A inpul device

B output device

C processing device
[ storape device

The process of loading an oporating system Lo
a4 PC memory is known gs

A Booting
B Lplnading
C Prompiing

B O - Toading

10, Which one of the Tfollowing destroys or

| 1. Memeory capacily may be expressed in

12

13.

L4

1%

coreupls daa

A Virus

B Worm

& Antivirus software
] Teajan horse

A Microseconds
B Mopaierts

& Mepapytes

] bitsfeyele

 What name 15 used to deseribe the rules that

gavern usage of programming lsnpuage

statements’
A Logic
I3 Privlecols
C Compilar
B Synlax

Simplify the expression THIGT 4+ L11 ] in the
hinary systeuot

A 101000
B | [ 1000
e | D1 00
I L11071

. Which of the following is a correet spreadshest

forrnud to multiply 25 by 3%

A {25143

E —25%3
43 ~25x3
D (23503

~ Which of the fallowing is NOT & recuirement

[or algorituns?

A [t executes in finite Ume
I 1l is etfective

& ILeventually lerininates
B [t iz written in Foalish

G on to the nexl pape




16. Which une of the following symbols represents

7.

15,

T8

28

an ANL pate?

A KNee O—out
H— y

i i} cut
e fmga

i Sy ol
i
e

1z :\_- 1 \ 5T TES
g e |

lir e clicnl-senver nelwark

A The server responds o the request ol the
client

B3 lhe server initidles communieation with
the chiwnl

C he client provides resources Tor the
SUTVET

[0 Bath the server-and the choenl can
pravide resonrees as need arises

Ten seconds is equal 1o nosecoiils.

A 14"
B 15"
1§ 1
D gt

A decument ]:wc_'rdn_:..ﬂa shovw that 1 prt‘.:in:;cl i
techuically possible and worth the cost of
development is the;

A Veasinilily repuorl

B Analysis repeort

E Evaluation roport

I Priofit aneg loss aceount

The binary equivalent of the oclal mmber 211
is

i 11tal1a1

B3 10110111
L 10001001
[ ERE R IOE T

The term mulliprogram ming relers w tie

abiliy to:

A Have many programs installed on a
Comouter,

B Program many conputers at atime,

G Use gny compulir programs,

Iy Run many compuicr programs at a time.

ZnFSUE AWM

Ll

22. Examples of hardware that produce softecopy

oupat are?

A Speiker wnd monitor

B Monitor and printer

L Wicroplone and speaker
12 Printer and microphone

23, A leature that swtomatcally moves the cursor

2%,

by the mext lineg wien the curment bne is Tull s

A Serolling
(5 Wiornl wran
i Search and replace
T Sereen adjust
A isused o relrieve specific

infarmation from a database

A data dictionary

B guety

C ropor generalor

Ly L
'he given logic gates from b (o right, ares
A ANDY & DR -
B OR & AND  X—
C AND& NANLD w—
0 NORX & NAND

5 X—
F-pit o 2
o e

Prople wha coardirate the development ol an

information system are referred Lo as
A Syslem users
o] S¥SLETT PrOSTEInIn e
(L Syulormy analysts
(B Systems administrators

In programming, both data and the
Listsuctions that use the dats dre haadied in
the same umil.

A {Ibjecr-oriented

B Procedural

e [Felaralive

|3 limpuralive

W'h'ruhﬁhc; rc:l-i:-wing-ia ™OT truc aboul a
Fard disk?

A It isa secondary storage device,

] [0 sonds arl reccives dila hrogah
dan 1Y hars,

I It relains data when the computer is
swilched olT,

B It uses ophiesl techmigues 1o store
data,

Turn Over

aul
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